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nj; =
Of & oH ay = p) =
X BB MBS =
3000
A H | 186,962 [= 0 = 1,047,262 7 0 = 0 2  139,000]
ggﬁFJH%HI \ 186,262 [= 0 = 1,047,262 DI = 0 2  139,000]
3160 .
SIRateio] HmE 2t} 186,262 [= 0 = 1,047,262 DI 0 2 0 2  139,000]
3161
boE N2 MAF . BT 180,762 [= 0 = 1,041,762 DI = 0 2  139,000]
lﬁ%mw - [= 0 = 979,912 7| = 0 2  139,000]
L}&H, 882 980 [= 0 & 743,982 O = 0 2  139,000]
101
o1 21H| 882,982
454,171|01 2123
232
o = |
43 5,000,0002/X12X128 = 60,000
STETES
62 1,955,000/ X2 X128 = 46,920
83 1,116, 10024X1 X128 = 13,394
92 1,764,900 12X128 = 21,179
=PSRN
62 2,428,8002X1BX128 = 29,146
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! o o -
2, e AlE, MAlE
s
= 2,175,900 X2&X12& 52,222
8= 1,938, 100&X7E X122 162,801
9= 1,455, 100&X1E X128 17,462
10= 949,900 X1& X128 11,399
pSESSP] Fulsl 354,523,000&X2.6% = 9,218
g2 365, 159,000X1/12 30,430
101,539 =g
&=
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EplEs 47,5673 X3EX4=] 571
sty 350,933& X3 X432l 4,212
F2=Eotits
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15~20= 0] 2t 80,000&AX2E X123 1,920
10~153 0/ ¢t 60,000 X1EX12& 720
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=X 60,0008X17xX128 = 12,240
feEaesry
=E= 30,0002 X12X128 360
Heseesg 3,631,0002IX4.8%X 128 = 2,092
sSagesy
P e
42 50,0002IX 124X 128 600
6~72 30,0002 X 12X 128 360
8~92 20,0008 X2 X122 480
NSRS L 40,0008 X2 X122 960
NEENS
JIAHS 30,0008 X2 X128 720
pa2ay
AlREQI 224 6.54121X16ZX3TAI X122 38,933
geg22+y 54,31321X 1602 8,691
03 FAZAlH|
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= Il =
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36,516 |05 2= S IiH|
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60,860 | 06 JHH XI 2t
JFAIKI 2 | 365, 159,000X1/12X200% = 60,860
11,244 |07 b2 A
o1 D AtH|
o= R 39,600,00021X1/12X1/30X102 = 1,100
==y 365,159,000 X1/12X1/30X102 = 10, 144
16,584 |09 Lol
24X XA A
=3 38,5002X129X249Y = 9,587
N 9,587,0002X4/12 = 3,196
=3P 38,5002X12X502 = 2,002
SPUE=D] BN 38,5002 X19X172 = 655
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Z:(3000)ZRMLH 2 (3100) =4 LY B (3160) 2 XHARIO) AT 23 Mg (3161) 225 WX Mo - 22 [ANENEIA] (S M)
ni; =
Gf &b oA &b = Jl =
T2 EMIE KIS =
Maal Y Z2EE = 10,000
203
2= 7,880
3,000 01 J|22HARE=XH|
A E = 3,000
680 02 REIIAYARETIY]
HeJaa 40,0002X17¢ = 680
4,200 |04 RN2YAR=ZY]
302101 3} 350,000X128 = 4,200
204
X 2482 41,880
4,800 |01 X3 IRET Y|
A E 400,0002IX128 = 4,800
27,480 |02 =22 X H|
42 400,0008X12X128 = 4,800
62 155,000X3& X128 = 5,560
72 140,00020X22X 128 = 3,360
8-92 105,00010& X128 = 12,600
102 95,0002 X1&X128 = 1,140
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i =
Of &b o4 &t = p) =
&, 2, 8 e MAE =
9,600 03 SRl SHI
el & Sl 50,000&X16Xx12&8 = 9,600
200
AL Ol & 61,850
220
KA AL 61,850
206
MZ I 3,000
3,000 |00 =4l
MED A5 & BHAS = 3,000
401
A EHI L2 I 43,500
43,500 |01 Al&HI
ASMED A=IA = 36,000
SAMELD AL B3 At = 7,500
405
AHaEF S HI 15,350
15,350 |01 A& =S EF S
HEDE bt E A = 15,350
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WNZA WEEHX 2F 5,500
100
Ja0at 5,500
120
da A" 5,500




Z+:(3000) Z MoK 2h:(3100) & == A 2| 81 (3160) 2t Atatg o] A 235t Mg (3162) M2 RE THBE K 22 [ZAERNESA] (29 HS
n =
ol Ao & = ] x
&, 2, 8 e MAE =
202
04 8l 3,000
3,000 |01 =WHO4HI
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